Tipi 1

62.7 +9.7=72.4 m2

Tipi 1

56.2 + 8.7 =64.9 m2

Tipi 1
57.3+8.8=66.1m2

Tipi 1

56.7 + 8.7 =65.4 m2

Dyqgani
114.1 m2
Tipi 1 Tipi 1 Shkalla kati perdhe Tipi 1
62.7 + 9.7 =72.4 m2 56.4 + 8.7 = 65.1 m2 88.5 m2 56.4 + 8.7 = 65.1 m2
Tipi 1 Tipi 2 Tipi 2 Tipi 3 Tipi 2 Tipi 2 Tipi 4

55.2 + 8.5=63.7 m2

489+ 7.5=56.4 m2

489+ 7.5=56.4 m2

496 +7.6=57.2m2

489+ 7.5=56.4 m2

489+ 7.5=56.4 m2

63.7 + 9.8 =73.5m2

Tipi 1

55.2 +8.5=63.7 m2

Tipi 2

48.9 + 7.5 =56.4 m2

Tipi 2

48.9 + 7.5 =56.4 m2

Shkalla kati perdhe

98.3 m2

Tipi 2

48.9 + 7.5 =56.4 m2

Tipi 2

48.9 + 7.5 =56.4 m2

Tipi 4

63.7 +9.8=73.5m2




